OO NS - 424

Il Semester B.Com. Examination, November/December 2016
(2015-16 & Onwards) (CBCS) (F+R)
COMMERCE
3.6 : Quantitative Analysis for Business Decision - Il

Time : 3 Hours Max. Marks : 70

Instructions : Answers should be written completely either in English or in
Kannada.

SECTION-A

1. Answerany five sub-questions. Each sub question carriestwo marks.  (5x2=10)

a) What is meant by perfect correlation ?
Q) ‘TOTPERFT ATROLIOT DOTTERD ?

b) State the assumptions of interpolation.
) ‘QoLTTHRSEBT T FOSNTDI, WIWO.
)

c) State the components of time series.

2)) Foelovsktelaleves @057{@3@{ PR

d) If bxy = 1.2, byx = 0.8, obtain ‘r.

@) bxy =1.2, byx=0.8 333, ‘I’ BOWIROWD.

e) State any two merits of sampling.

Q) ‘BRTO' 03 YUTCIREANTTI 93

f) What are mutually exclusive events ?

) TORT VTR B30T DOTTERD ?
g) Distinguish between ‘parameter’ and ‘statistic’.
23) ‘TOTOROIT TR ARLRE QNG desg%#ﬁﬁﬁ@i PR

SECTION-B

Answer any three questions from the following. Each question carries six marks.
(3x6=18)
2. It is known that the population S.D in waiting time for new gas connection in a
particular town is 25 days. How large a sample should be chosen with an allowable
error of 6 days of the true average waiting time, at 95% confidence level ?
(Z value at 95% confidence level = 1.96).
2,00 SNCEE BRR MYAT FosTsF TEODLD T20I0E LBHOD KREF0a3 0D TR NIV
25 QTAND Qda dowé =083, 95% ©Y,, TONETHRT SHYNLY, E\mmd RTIRO00T
6 DT T30 eﬁd@omdd "R mé DR, 7

(N.razéﬁ J00F daéi 95% ﬁﬁﬁe =1. 96)

(’D O

P.T.O.
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3. A single card is chosen at random from a standard deck of 52 playing cards.
What is the probability of choosing
a) Akingoraclub ?
b) Akingoraqueen?
52 R HSNYA 2,000 mfojadgt =08 RPN
a) Oo% pwe T @@@d& SrO%0E BoYIOESE RD, ?
b) To% e Toed m?ojaabd Sricd0sm BOLTERS R, ?

4. Find the index number for 2006 from the following table of index numbers, using
binomial expansion method.

Year : 2004 | 2005 | 2007 | 2008

Index No. : | 100 | 107 157 212

20063 IR m%oéqu 3SR %m%dad DRONPOT TR 8 2 dmss NERTE
FOTRIEBCA0.

=R 2004 | 2005 | 2007 2008

:iraméoa: 100 | 107 157 212

5. The following table shows the mean and standard deviation of prizes of two shares
in a stock exchange.

Shares Mean (in Rs.) | Standard deviation (in Rs.)
A Ltd. 39.5 10.8
B Ltd. 47.5 16

If the correlation coefficient between the prices of two shares is 0.42, find the
most likely price of share A Ltd., corresponding to price of Rs. 55 of share of
B Ltd..

BIF0TE eS010 FeT*S WHO3D FTIRO 2B TRMEST eIOHODTI EeeTITT.

Heof | RowRo(Se) | BRmedsouud(3n.)
A Ltd. 39.5 10.8

B Ltd. 47.5 16

RBROWOG ABNeT 0.42 35338 ‘B’ D063 S Red 3¢5 3. 55 9ddwon ‘A’ Qe0dE'S
RO z:?c?o:o@ BOTOZECA0.
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6. Obtain the rank coefficient of correlation from the following data.

Prize of Tea (Rs.) 75 88 95 | 70 | 60 | 80 81 50

Prize of Coffee (Rs.) : | 120 | 134 | 150 | 115 | 110 | 140 | 142 | 100
et %@%dad G2903008 ‘A0DT R T 03,05° TBIOOT ;‘o’%?b@@%d@t BOTBIZRCAD.

WTT 33 (d@) 75 88 95 | 70 | 60 | 80 81 50

@épo.jozi’@(da) 120 | 134 | 150 | 115 | 110 | 140 | 142 | 100

SECTION-C

Answer any three questions from the following. Each question carries
fourteen marks. (3x14=42)

7. The following data relates to the number of passenger car (in Millions) sold from
2000 to 2006.

Year : 2000 | 2001 2002 = 2003 | 2004 2005 | 2006

Number : 6.7 5.3 4.3 6.1 5.6 7.9 5.8

a) Fita straight line trend to the data and obtain the trend values.
b) Estimate the sale of cars for the year 2010.

ota '&ra%daas’ DR&E, 2000 90 2006T TR DIVBTOT FoTONY TIWTOES

(m@o@@ﬁ@@ ).
=R 2000 | 2001 | 2002 @ 2003 | 2004 | 2005 | 2006
DRI zos.g | 6.7 5.3 4.3 6.1 5.6 7.9 5.8

a) 3RO B8 LoBNYR ATV TG0 BRODR, BE3 S [P MYR) ToEIREBOWO.
b) 2010 [RF T TS TIRTLITI) LOTDLR.

8. From the following data, find out the number of students who secured more than
40 but less than 45 marks.

Marks : 30-40 | 40-50 | 50-60 | 60-70 | 70-80
No. of students : | 31 42 51 35 31
3N é@@i{bd mc%oéoibod40§§oé ézﬁ% 33345 908NPN0T TR BEOTO é)w%é;brﬁ%f
2083, 0303, BOTIRROND.
OB : 30-40 | 40-50 | 50-60 | 60-70 | 70-80

SDCEZ@?K%* 5095;: 31 42 51 35 31
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10.

11.

4-

between density of population and death rate.

9. From the following data on six cities, calculate the coefficient of correlation

City : A B C D E F
Density of population : | 200 500 400 700 600 300
Population (‘000) : 30 90 40 42 72 24
No. of deaths : 300 1440 560 840 1224 312

3G BREITOT BPLICWOT ‘WIAOTE * 0B ‘WITEY Tzed'E, VTOT ABRHOLOT

zammw@t FOTOZEOAD.
Sno: A B C D E F
uﬁﬁogﬁﬁ mogé’: 200 500 400 700 600 300
wNTed ! 30 90 40 42 72 24
=OTED 5035:3 : 300 1440 560 840 1224 312
Estimate the revenue generated for the year 2013 and 2015 from the following
table.
Year : 2010 12011 | 2012 | 2013 2014 | 2015 | 2016
Revenue (Rs. in Crores) : | 100 | 120 | 150 - 210 - 320
2013 R08220155¢ SIRFNY SO GUBTH 0T,
SR 2010 | 2011 2012 | 2013 | 2014 2015 | 2016
Eiaplows) (@J@CEB dJa) | 100 120 150 - 210 - 320

Obtain the two regression equations from the following data and estimate the
value of X when Y = 50 and the value of Y when X = 45.

X 40 50 38 60 65 50 35

Y 38 60 55 70 60 48 30
89 8030583 0e0R SORE> SotRoh RBEOLBER) Jomo%ReN0 rtY = 50 wemrt
X' B303R B8y X = 45 TR Y LD Boms%BOD,

X 40
Y 38

50
60

38
55

60
70

65
60

50
48

35
30




